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Elektro fTrocknen

Gang \J

0 2 4 6 8 10m

B ——— Kellerraume
Massstab 1:300
1 Keller ~ D2.03.02 16.11 m?2 1 Keller ~ D1.00.01 15.14 m?
2 Keller D20102 13.84 m? 12 Keller D103.01 15.04 m?
NN 3 Keller D20002 1421m? 3 Keller D2.0003 15.50 m?
W 4 Keller D20103 14.59 m> 14 Keller  D203.01 2124 m2
IR 5  Keller D101.02 17.04 m2 15 Keller  D20101 17.87 m?
IR 6  Keller D1.0302 1472 m2 16 Keller  D2.0001 17.83 m?
umswoh““ngen 7 Keller ~ D1.02.01 16.91 m? 17 Keller  D2.02.02 14.21m?
! 8  Keller D10101 1719 m? 18 Keller D2.0201 15.27 m?
> v"g 9 Keller D1.0202 16.90 m? 19 Keller D20203 15.81m2
Ie= 10 Keller  D1.00.02 1719 m2
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